Correspondence of Exam questions and Handout, Demo, or Homework Questions
Essay Question 1:
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Ref: Excel Handout 1 and Demo 1
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Essay Question 2:
[image: ]This one is the most obvious; even the table looks so very similar

Ref: Excel-in-Life Solution, HW2 Problem 3
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Essay Question 3:
[image: ]This one is the most obvious; even the table looks so very similar

Ref: HW2, Problem 1
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Essay Question 4:
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Ref: HW4, Problem 2 – Blood pressure – Blood pressure reference value, +5 and -10 are the upper and lower limits
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Essay Question 5:
5. (14 points) IF + VLOOKUP: 【Same logic as the “utility company” demo question】
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Ref: Utility company question, Demo 31 and 3-2
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And ironically and sadly, this problem is the one that most people lost most of the points!! Yet it was the one that I did not make any change from last semester!!!
I posted, in Spring Break the following section to help with your exam preps:
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I did keep a very close correspondence between exam questions and learning materials:
Conclusion/lesson:
1. I advised you to study all demos and homework problems, and I did make the exam questions VERY, EXTREMELY close to the problems you have seen;
2. [bookmark: _GoBack]From the incident we have learned that we NEED TO IMPROVE our ability to apply the concepts and skills, that we should be able to take what has been taught and learned, to those appearing different but principally reference-able business cases - in the exam cases they are almost no difference; but in real-world business the cases are ten times more complex, and a business professional MUST possess the ability to see similarity from seemingly different, so as to be able to apply the acquired theory and skills onto the case s/he is facing.
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3. (12 points) Nested IF, and mixed reference: [Same logic as your homework “Q1/Q2; Increse, ...; %
of Year-To-Date”]
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1. Nested IF, and mixed reference: (5 points)

A B c [ D E F G H T T
1| Qast | (First Changes - Percent of YID
name) | name)
2[203 | Q | Q2 | @ | YID | Qlto | Qto | QI %) [+5
@ o3

1000 | 1050 | 1020

2012 | Q1 2 | Q3 | YID

| n]w

900 920 | 920
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4. (11 points) Nested IF: (Similar to the “Hi-Lo Blood Pressure” problem but a bit simpler)

ACME Hardware produces nuts and bolts for home improvement purposes. One of the products is 1/8”
bolts, whose center specification is 1/§” in diameter. or 0.125 inch. There is a allowable tolerance of
0.005. Due to the variations in the machinery, the bolts produced can be of sizes varying around the
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while those smaller have to be scrapped. So ACME categorizes the outputs as “Too big” (which is larger
than Center spec + Tolerance, or larger than 0,125 +0.005), “Too small” (which is smaller than Center
spec - Tolerance, or smaller than 0.125 - 0.005), and “In range” (which is other than the above two cascs).




image10.png
Rule:

126 86

120 69
ONE formula, that can be copied to the above
range, for both columns.

Measured blood pressure -

- can be lower than the reference by 10 (010 lower are OK);

- can be higher within 5 (05 higher are OK)

- 11 ore more lower is diagnosed as "Lo BP"

- 6 or more higher is "Hi BP"

S0 the words "Hi" or "Low" wil Ibe displayed
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6 Edwards Ken 43 1015 $ 5,123.00

7 |..
8 Owner's account search:

9 AcctNum Uni
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A B c D E F G H | J

Last Name First Name Street Address City State Zip AcctNum Phone Balance LastPyn
Adams John 1234 Reseda 1011 818-993-1234  § 123.00 $ 111.(
Brown Jerry 2134 Main 1012 310-311-3111  $ 456.00 $ 444.(
Chen Ling 345 Maple 1013 626-168-8888 $ 789.00 $ 777.(
Davis Gray 6789 Lincoln 1014 310-222-2222  $ 321.00 $ 333.(
Edwards Ken 1111 Walnut 1015 909-989-6789 $ 654.00 $ 666.(

This is an VLOOKUP by nature; but part of the
data for the lookup - the data to look up, and

CustQuery the lookup table, depend on outcome of IFs.

AcctNum Phone Balance Last Pymt
310-311-3111 $ 456.00 444

1

Story: The Utility Company allows lookups of customer balnace and last payment using account num‘ber
or phone number - either one is entered, the bal and the paymt would be displayed.
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12: 417

[Spring Break - New posts on Excel demo solutions =

INote: All previously posted Demos and solutions are
emoved. The ones listed on the right are the only OFFICIAL
|demo solutions == == ==>

1. Excel Demo 1 solution: Mixed Ref;
lamotization table
[2. Excel-in-Life Demo solution

I3. Word doc to explain the logic of
[Excel-in-Life demo

[+ Excel Demo 2 solution: Nested IF, SUMIF, COUNTIF |

5. Library book

6. Excel Demo 31 & 3-2 solutions: VLOOKUP (many
Ivariations)

7. Excel Demo 3-3 solution: Workbook (cross-sheet
eferences)
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1. (6 points; Relative/Mixed/Absolute Refs) In the following spreadsheet, the formula in cell A3 is
copied to DS, and cell C2 copied to E4. Write the new formulas in the destination cells.

A B C D E
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Figure 1-4 Rules of formula changes when it is copied

Rules about relative reference, mixed reference, and absolute reference:

Rule 1. When a formula is copied DOWN the column, the row number increases by the
‘number of rows it goes down (selative reference); [C10 becomes C11, C12, C13, ,.]
Rule 2. When a formula is copied ACROSS the row, the columa letter increases by the
‘number of columns it goes right (relative reference); [C10 becomes D10, E10, F10. ...]
[——— "

Rule 3. When a formula is copied BOTH down and across, the columa letter AND row
‘number increase by the number of columns it goes right AND row number increases by the
number of rows it goes down (selative reference);

Rule 4. I there arc any "S"s to "freeze” or "fix" the row number or the column letter or
both, the corresponding row/eolumn will not change (mixed reference, and absolute
reference).
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2. (13 points; Mixed ref, nested IF) Excel in Life: Employee selection, based on the three criteria as
found in column A. Each criterion has a weight. Each of the four candidates are assessed a raw score on
each criterion (as given). Write the following formulas:
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A B (9 2] E F G
Jobs Retail Waiter | Pharmacist  CEO
criteri Iscore you
(and weight) lassigned
Income. 2 3 6 10
04 08 12 24 4/ <==weighted ir
Hours 3 3 7 5 raw scores above
0.2 06 06 14 1 the w
stress 3 a 7 3
03] 09 12 21 09
Outlook 2 3 7 10
0] 02 03 07 1
‘Weighted total 25 33 6.6 69
Best/Worst Worst Best

: Inrow11,

ichiis the largest number? 6.5 fh F11 right?
Sothatis the "Best’; similarly 2.5 in C11is fhe "Worst".

determine which s best and which is worst.
number in thé whole row, you're Best;
else if you're the smallest number in the whole row you are Worst;
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3. “Excel in Life” - Weighted Sum and Nested IF: (5 points) (Put your name — Last, First —in cell F1)

Given four scenarios below —

Apartment-

ranking rent, distance to work, safety, newness, convenience
Employee-

selection education, certificate, reference, attitude, special strengths

MDA




